RigSEEH

R6E# EFait BEIiaF2H
= KHEFKYS—F ITEGBONERERF

lin

)
ORER|
IERS KR R R AEIR T #HED)
B {fih X EiK1 FE
£
T i (X 53 b LI h it LD TIFALY,
AIEXHEE 35%EHBZ 40%UTDIHE
LZHRELE EEMNRILZLELTHEE
RIGRENES EtELAWL




1/

2)




2/

2)




1/

3)

35%

40%

0.00




2/

3)

1.000

10

11

1.000

12

13

14




3/

3)

15

16

17

18

19

1.000

20

21




1/

2)

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

-000

.000

.000

-000




2/

2)

.000

.000

.000

.000

.000

.000

.000

.000




1/

2)

.000

.000

.000

.000

.000

.000

.000

.000

.000

.000

-000

.000

.000

-000




2/

2)

.000

.000

.000

.000

.000

.000

.000

.000




1/

1

1.000

1.000

1.000

1.000




(

1/ 16)

.000
.000
.000
C D
(4 ,SUS,0.8m2  10m2 .2 .000 57
.6,3.0
.000 7
.000 9
CR P30x 10x 75 1:4.910 .100 | kg 59
CR t12x 80 2.010 .500 | kg 60
C )
.000 1
.000
4 ,2.6,, .000 55
.000 11
( )
.000 27
.000 17




(

2/ 16)

.000
.000

.25 .10,3.0 .000 58
.000 8
.000 10
.000 2
.000

“ ,10.0,, .000 56
.000 12
.000 28
.000 18




(

3/ 16)

1.000

1.000
20kN 1.000 44
SUS316 RA20 L=7.990 1.000 45
SUS304 RA20 1.000 46
SUS304N2 1.000 47

1.000
SUS304 PL9, 10.100 kg 35
SUS304 L 100x75x7, 16.900 kg 36
SUS3EL\]1 M12x45 2N, 2PW 0.800 kg 49
SU5334NM24X230 2N, 2PW 8.300 kg 50
SUSSEL\: M12x135 2PW,SW 1.200 kg 51
AP-12 8.000 52




(

4/ 16)

C )

1.000 3
1.000
1.400 2
1.000 13
1.000 19
0.600 5
1.000 20
1.000
1.000

SUS304 FB50x% 6, 174.300 kg 37

SUS304TP 25A sch40, 30.800 kg 38

SUS304TP 32A sch40, 71.200 ka 39




(

5/ 16)

SUS33L\‘1 M12x135 2PW,SW 3.400 kg 51
AP-12 22.000 52
C )

1.000 4

1.000
5.600 2
1.000 14
1.000 21
1.000 22

1.000

1.000
SUS304 FB65x% 9, 166.600 kg 40
SUS304 L 75x75x6, 29.300 ka 41




(

6/ 16)

SUS304 @ 19, 14.500 kg 42
SUS324 M16 2PW,SW 6 0.500 kg 53
SUS334 u12x45 PW,SW 8 1.200 kg 54
C )
1.000 5
1.000
1.100 2
1.000 15
1.000 23
6.330 31
1.000 24
1.000

1.

000




(

7/ 16)

SUS304 PL9, 82.300 kg 35
SS400 ¢ 13, 5.000 kg 43
(

1.000 6
1.000
3.200 2
1.000 16
1.000 25
1.340 31
1.000 26
1.000
1.000

W700xH2350x600 1.000 48




( 8/ 16)




( 9o/

16)

.000

.000

.000

.000

.000

.000

.000

.000

.000

“

).2.60,,

.000

64

.000

34

-000

31

.000

29

.000

38




( 10/ 16)

1.000

5.800 61
1.400 62
1.000 35
1.000 30
1.000

9.000 61
3.000 62
15.000 63
1.000 36




( 11/

16)

.000
.000 61
.000 62
.000 37
.000
.270 1
.000
LED 82w, , -000 9
CV 5.5-4c. ., -000 10




( 12/ 16)

Cv 5.5-3c,, 7.000 11
CV 3.5-4c,, 20.000 12
Cv 3.5-2c,, 9.000 13
Cw 2-8c,, 20.000 14
IV 5.5( )., 5.000 15
G54(3.66 7/ )., 1.000 16
G36(3.66 7/ ),, 1.000 17
G28(3.66 7/ )., 5.000 18
G22(3.66 /)., 1.000 19
1.000 20

HIVE 16(4.00 / )., 1.000 21
1.000 22

#63( ). 1.000 23
#38( ).. 1.000 24
#30( ). 4.000 25
#17( ).. 1.000 26
2a 1.000 27

SUS WP_300x400x200,, 2.000 28




( 13/ 16)

@ 14x 1500 .000 29
140x90x1.5t, , .000 30
.000
L @ )]
,16t .000 33
200A .000 32
.000 32
.000
L @ )]
.16t .000 33
200A .000 32
.000 33
.000

-000




( 14/

16)

B2.00

x H1.55

.000

20.

000

.000

32

.000

.000

34

32

.000

.000

34

.000

.000

-000




( 15/ 16)

.1.371ton,54km

1.000

65




( 16/ 16)

1.000

1.000

1.000

1.370

ton

66




( 1/ 36
1.000
:8.0 :0.0
B2.00 x H1.55 :0.0 8
1 : :0.0
2) B2.00 x H1.55 :0.0
3)
B2.00 x H1.55 1.000
1.000
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) :0.0
1.000

1.000




(

2/ 36)

1.000
:8.0 :0.0
:0.0 8
D : :0.0
2) :0.0
1.000
1.000
1.000
:8.0 :0.0
:0.0 8
D : :0.0
2) :0.0
1.000
1.000
1.000
:8.0 :0.0

:0.0




( 3/ 36)
l) :0.0
2) :0.0
3)
4)
1.000
1.000
1.000
:8.0 :0.0
:0.0 8
1) M :0.0
2) :0.0
3)
4)
1.000
1.000
1.000
:8.0 :0.0
:0.0 8




(

4/ 36)

D
2)

:0.0

:0.0

3)
4)

1.000

1.000

1.000

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

1.000

1.000

1.000

LED

82W, .

:0.0

:8.0

:0.0




(

5/ 36)

D
2)

:0.0

:0.0

3)
4)

LED

82w

1.000

1.000

10

1.000

CV 5.5-4c,,

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

CV 5.5-4c

1.000

1.000

11

1.000

CvV 5.5-3c.,

:0.0

:8.0

:0.0




(

6/ 36)

D
2)

:0.0

:0.0

3)
4)

CV 5.5-3c

1.000

1.000

12

1.000

CV 3.5-4c,,

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

CV 3.5-4c

1.000

1.000

13

1.000

Cv 3.5-2c.,

:0.0

:8.0

:0.0




(

7/ 36)

D
2)

:0.0

:0.0

3)
4)

CV 3.5-2c

1.000

1.000

14

1.000

Cw 2-8c,,

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

CVV 2-8c

1.000

1.000

15

1.000

IV 5.5(C ..

:0.0

:8.0

:0.0




(

8/ 36)

D
2)

:0.0

:0.0

3)
4)

1V 5.5(C )

1.000

1.000

16

1.000

G54(3.66 /).,

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

G54(3.66 7/ )

1.000

1.000

17

1.000

G36(3.66 /7 ..

:0.0

:8.0

:0.0




(

9/ 36)

D
2)

:0.0

:0.0

3)
4)

G36(3.66 7/ )

1.000

1.000

18

1.000

G28(3.66 7/ ).,

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

G28(3.66 /7 )

1.000

1.000

19

1.000

G22(3.66 /7 ..

:0.0

:8.0

:0.0




( 10/ 36)

D
2)

:0.0

:0.0

3)
4)

G22(3.66 /)

1.000

1.000

20

1.000

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

1.000

1.000

21

1.000

HIVE 16(4.00 / ..

:0.0

:8.0

:0.0




( 11/ 36)

D
2)

:0.0

:0.0

3)
4)

HIVE 16(4.00 / )

1.000

1.000

22

1.000

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

1.000

1.000

23

1.000

#63( ).,

:0.0

:8.0

:0.0




( 12/ 36)

D
2)

:0.0

:0.0

3)
4)

#63(

1.000

1.000

24

1.000

#38(

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

#38(

1.000

1.000

25

1.000

#30(

:0.0

:8.0

:0.0




( 13/ 36)

D
2)

:0.0

:0.0

3)
4)

#30(

1.000

1.000

26

1.000

#17(

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

#17(

1.000

1.000

27

1.000

:0.0

:8.0

:0.0




( 14/ 36)

D
2)

:0.0

:0.0

3)
4)

1.000

1.000

28

1.000

SUS WP 300x400x200, ,

:0.0

:8.0

:0.0

)
2)

:0.0

:0.0

3
4)

SUS WP 300x400x200

1.000

1.000

29

1.000

© 14x 1500

:0.0

:8.0

:0.0




( 15/ 36)

D
2)

:0.0

:0.0

3)
4)

@ 14x 1500

1.000

1.000

30

1.000

140x90x1.5t, ,

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3
4)

140x90x1.5t

1.000

1.000

31

1.000

:0.0

:8.0

:0.0




( 16/ 36)

D
2)

:0.0

:0.0

3)

1.000

1.000

32

1.000

200A

:8.0

:0.0

)
2)

200A

:0.0

:0.0

:0.0

3)

200A

1.000

1.000

33

@]

1.000

.16t

@ )l

:8.0

:0.0

:0.0




( 17/ 36)

D
2)

:0.0

:0.0

3)
4)

M
(YO

8.0

5)
6)

)
8)

9)

@ )l

1.330

88.000

1.000

34

100.000

:8.0

4

:0.0
8

D
2)

:0.0

:0.0

:0.0

3)

1.900

8.400




( 18/ 36)

1.800
[ (~2014)] < >
0.800
0.270
100.000
35
kg 1.000 kg
:8.0 :0.0
SUS304 PL9, :0.0
n o C ) : :0.0
2) SUS304 PL9 :0.0
3)
4)
5) )
SUS304 PL9 1.000 kg
1.000 kg
kg
1.000 kg

36




( 19/ 36)

kg

1.000 kg

SUS304 L 100x75x7,

:8.0

:0.0

n C )
2)

SUS304 L 100x75x7

:0.0

:0.0

:0.0

3)
4)

5) )

SUS304 L 100x75x7

1.000

kg

1.000 kg

kg

1.000

kg

37

kg

1.000 kg

SUS304 FB50% 6,

:8.0

:0.0

n C )
2)

SUS304 FB50x 6

:0.0

:0.0

:0.0

3)
4)

5) )

SUS304 FB50x 6

1.000

kg

1.000 ka




( 20/ 36)

kg
1.000 kg
38
kg 1.000 kg
:8.0 :0.0
SUS304TP 25A sch40, :0.0
n o C ) : :0.0
2) SUS304TP 25A sch40 :0.0
3)
4)
5) )
SUS304TP 25A sch40 1.000 kg
1.000 kg
kg
1.000 kg
39
kg 1.000 kg
:8.0 :0.0

SUS304TP 32A sch40, :0.0
n o C ) : :0.0
2) SUS304TP 32A sch40 ;0.0




( 21/ 36)

3)
4)
5) )
SUS304TP 32A sch40 1.000 kg
1.000 kg
kg
1.000 kg
40
kg 1.000 kg
:8.0 :0.0
SUS304 FB65x 9, :0.0
D ( ) : :0.0
2) SUS304 FB65x 9 :0.0
3)
4)
5) )
SUS304 FB65x 9 1.000 kg
1.000 kg
kg
1.000 kg




( 22/ 36)

41

kg

1.000 kg

SUS304 L 75x75x6,

:8.0

:0.0

n C )
2)

SUS304 L 75x75x6

:0.0

:0.0

:0.0

3)
4)

5) )

SUS304 L 75x75x6

1.000

kg

1.000 kg

kg

1.000

kg

42

kg

1.000 kg

SUS304 o 19,

:8.0

:0.0

n C )
2)

SUS304 ¢ 19

:0.0

:0.0

:0.0

3)
4)

5) )

SUS304 @ 19

1.000

ka




( 23/ 36)

1.000 kg
kg
1.000 kg
43
kg 1.000 kg
:8.0 :0.0
SS400 @ 13, :0.0
1 ( ) : :0.0
2) SS400 @ 13 :0.0
3)
4)
5) )
S§S400 @ 13 1.000 kg
1.000 kg
kg
1.000 kg
44
1.000
:8.0 :0.0

20kN :0.0




( 24/ 36)

1 :0.0
2) 20kN :0.0
20kN 1.000
1.000
45
1.000
:8.0 :0.0
SUS316 RA20 [=7.990 :0.0
1 : :0.0
2) SUS316 RA20 L=7.990 :0.0
SUS316 RA20 L=7.990 1.000
1.000
46
1.000
:8.0 :0.0
SUS304 RA20 :0.0
D : :0.0
2) SUS304 RA20 :0.0
SUS304 RA20 1.000




( 25/ 36)

1.000
47
1.000
:8.0 :0.0
SUS304N2 :0.0
1 : :0.0
2) SUS304N2 :0.0
SUS304N2 1.000
1.000
48
1.000
:8.0 :0.0
W700xH2350x600 :0.0
1 : :0.0
2) W700xH2350x600 :0.0
W700xH2350x600 1.000

1.000




( 26/ 36)

49

BN

kg

1.000

BN
SUS304 M12x45 2N, 2PW

:8.0

:0.0

D
2)

SUS304 M12x45 2N,2PW

:0.0

:0.0

:0.0

BN
SUS304 M12x45 2N,2PW

1.000

kg

1.000

50

BN

kg

1.000

B N
SUS304 M24x230 2N, 2PW

:8.0

:0.0

)
2)

SUS304 M24x230 2N,2PW

:0.0

:0.0

:0.0

BN
SUS304 M24x230 2N,2PW

1.000

kg

1.000

51




( 27/ 36)

BN kg 1.000
BN :8.0 :0.0
SUS304 M12x135 2PW,SW :0.0
D : :0.0
2) SUS304 M12x135 2PW,SW :0.0
BN
SUS304 M12x135 2PW,SW 1.000 kg
1.000
52
1.000
:8.0 :0.0
AP-12 :0.0
D : :0.0
2) AP-12 :0.0
AP-12 1.000
1.000
53
N kg 1.000
N :8.0 :0.0

SUS304 M16 2PW.SW 6

:0.0




( 28/ 36)

1 :0.0
2) SUS304 M16 2PW,SW 6 :0.0

N
SUS304 M16 2PW,SW 6 1.000 kg

1.000
54

B N kg 1.000

B N :8.0 :0.0
SUS304 M12x45 PW,SW 8 :0.0
1 : :0.0
2) SUS304 M12x45 PW,SW 8 :0.0

B N
SUS304 M12x45 PW,SW 8 1.000 kg

1.000
55
1.000
:8.0 :0.0
4 ). ,2.6,, :0.0

D : :0.0
3) 2 (4 :0.0
6) @

9 2)

:10




( 29/ 36)

11)
12)

)

2.6

13)
14)

0.00

15)
16)

17)
18)

12.250

1.000

56

1.000

4 ). .10.0,,

:8.0

:0.0

)
3)

2

(4

:0.0

:0.0

:0.0

6)
9)

)
(@)

125

11)
12)

)

10.0

13)
14)

0.00

15)
16)

17)
18)

8.570




( 30/ 36)

1.000

1.000

.(4 ) ,SUS_,0.8m2

10m

:8.0

:0.0

,2.6,3.0

:0.0

:0.0

:0.0

D
2)

3
4)

¢
0.8m2

)

10m2

,SUS

5)
6)

)

2.600
3.0

)
8)

@

9
10)

@
Q

11)
12)

@

13)
14)

@
(@3]

15)
16)

@
)

17)
18)

(€)]

19)
20)

®
(€))]

21)
22)

®




( 31/ 36)

26)
27)

*

31)
32)

®

36)

©)

SUS304 PL6

183.000

kg

SUS304 [ 1

50x75x9

287.000

kg

SUS304 FBY!

0x 9

52.000

kg

1.000

58

1.000

.25

.10,3.0

:8.0

:0.0

)
4)

(@3]

:0.0

:0.0

:0.0

5)
6)

@

25
10.000

)
8)

(Ss )

3.0

9 (
S10) N €))

O

11)
12)

@
(@16

13)
1

(SUs )
)(2)




( 32/ 36)

15) (@)
16) (@)
17 ()
SS400 PL6 39.000 kg
SUS304 PL6 352.000 kg
1.000
59
kg 1.000
:8.0 :0.0
CR P30x 10x 75 1:4.910 :0.0
D : :0.0
2) CR P30x 10x 75 1:4.910 :0.0
CR P30x 10x 75 1:4.910 1.000 kg
1.000
60
kg 1.000
:8.0 :0.0

CR t12x 80 2.010

:0.0




( 33/ 36)

1 :0.0
2) CR t12x 80 2.010 :0.0
CR t12x 80 2.010 1.000 kg
1.000
61
1.000 [ ]
:8.0 :0.0
s :0.0 8
1 : :0.0
2) :0.0
3)
1.000
1.000 [ ]
62
1.000 [ ]
:8.0 :0.0
, :0.0 8
1 : :0.0
2) :0.0




( 34/ 36)

3)
1.000
1.000 [ ]
63
1.000 [ ]
:8.0 :0.0
. :0.0 4 8
1 : :0.0
2) :0.0
3)
1.000
1.000 [ ]
64
1.000
:8.0 :0.0
(4 ),2.60,, :0.0 4 8
1 : :0.0
3) (2) (4 :0.0




( 35/ 36)

6)
8)

)
(@D @)

:10
2.60

9
10)

11)
12)

13)

14.060

3.510

1.000

65

1.000

,1.371ton,54km

:8.0

:0.0

)
2)

1.371ton

:0.0

:0.0

:0.0

3)

54 _000km

1.000

1.000




( 36/ 36)

66
ton 1.000
:8.0 :0.0
:0.0

1 : :0.0
2) :0.0

3)

1.000 ton

1.000




(

1/ 20)

1.000

:8.0

:0.0

:0.0

D
2)

:0.0

:0.0

3)
4)

5)

0.130

1.000

1.000

:8.0

:0.0

D
2)

m

:0.0

:0.0

:0.0

3)
4)

(

)

5)

)

0.130

1.000




(

2/ 20)

1.000

:8.0

:0.0

D
2)

(4]

:0.0

:0.0

:0.0

3)
4)

(

)

5)

()

0.130

1.000

1.000

:8.0

:0.0

D
2)

m

:0.0

:0.0

:0.0

3)
4)

(

)

5)

)




( 3/ 20
0.130
1.000
5
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) ) :0.0
3)
4) (@)
5) )
0.130
1.000
6
1.000
:8.0 :0.0
:0.0

l) . :0.0
2) () ;0.0




(

4/ 20)

3)
4)

(

)

5)

(

)

0.130

1.000

1.000

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3)
2)

aneco

(SUS)
9.000

)
8)

0.090

1.000

1.000




(

5/ 20)

:8.0

:0.0

)
2)

:0.0

:0.0

:0.0

3)
4)

oncH

6.000

)
8)

(

0.060

1.000

1.000

:8.0

:0.0

iy
2)

:0.0

:0.0

:0.0

3)
4)

(YL (%)

(SUS)
5.000

)
8)

(

0.050

1.000




(

6/ 20)

10

1.000

:8.0

:0.0

:0.0

D
2)

:0.0

:0.0

3)
4)

Y1) (%)

1.000

)
8)

0.010

1.000

11

1.000

:8.0

:0.0

D
2)

(@)

:0.0

:0.0

:0.0

3)
4)

(@)

0.600

1.000




( 7/ 20
12
1.000

:8.0 :0.0

:0.0
1 : :0.0
2) (@) :0.0
3)
4) (@)

0.600
1.000
13
1.000

:8.0 :0.0

:0.0
D : :0.0
2) @) 0.0
3)
4) )

0.600

1.000




( 8/ 20
14
1.000

:8.0 :0.0

:0.0
1 : :0.0
2) (@) :0.0
3)
4) (@)

0.600
1.000
15
1.000

:8.0 :0.0

:0.0
D : :0.0
2) @) 0.0
3)
4) )

0.600

1.000




( 9 200
16
1.000

:8.0 :0.0

:0.0
1 : :0.0
2) (@) :0.0
3)
4)

0.600
1.000
17
1.000

:8.0 :0.0

:0.0
D : :0.0
2) () 25.000 :0.0
3)
4)

0.250

1.000




( 10/ 20)

18
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) (@) 25.000 :0.0
3)
4)
0.250
1.000
19
1.000
:8.0 :0.0
:0.0
D : :0.0
2) () 25.000 :0.0
3)
4)
0.250

1.000




( 11/ 20)

20
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) (@) 25.000 :0.0
3)
4)
0.250
1.000
21
1.000
:8.0 :0.0
:0.0
D : :0.0
2) () 25.000 :0.0
3)
4)
0.250

1.000




( 12/ 20)

22
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) (@) 25.000 :0.0
3)
4)
0.250
1.000
23
1.000
:8.0 :0.0
:0.0
D : :0.0
2) () 25.000 :0.0
3)
4)
0.250

1.000




( 13/ 20)

24
1.000
:8.0 :0.0
:0.0
1 : :0.0
2) (@) 25.000 :0.0
3)
4)
0.250
1.000
25
1.000
:8.0 :0.0
:0.0
D : :0.0
2) () 25.000 :0.0
3)
4)
0.250

1.000




( 147 20)

1.000
:8.0 :0.0
:0.0
1 : :0.0
2) 25.000 :0.0
3)
4)
0.250
1.000
1.000
:8.0 :0.0
:0.0
D : :0.0
2) ( SUS) :0.0
3)
0.090

1.000




( 15/ 20)

28
( ) 1.000
( ) :8.0 0.0
:0.0 :
1 : :0.0
2) :0.0
3) )
0.080
1.000
29
( ) 1.000
« ) :8.0 0.0
:0.0 4 8
1 : :0.0
2) () -0.0
3)
4) (@)
0.015
1.000




( 16/ 20)

30

1.000

:8.0

:0.0

D
2)

:0.0

:0.0

:0.0

3)
4)

0.010

1.000

31

1.000

:8.0

:0.0

D
6)

0.000kw

:0.0

:0.0

:0.0

)
8)

(09)

2

9
10)

(

)

0.030

1.000




( 17/ 20)

1.000
:8.0 :0.0
:0.0 4 8
' :0.0
:0.0
0.020
1.000
1.000
:8.0 :0.0
:0.0 4 8
' :0.0
:0.0
0.020
1.000




( 18/ 20)

34
1.000
:8.0 :0.0
:0.0 8
l) N :0.0
2) (@) 80.000 :0.0
3)
4) (
0.800
1.000
35
1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) (@) 65.000 :0.0
3)
4) (
0.650

1.000




( 19/ 20)

36
1.000
:8.0 :0.0
:0.0 8
l) N :0.0
2) (@) 90.000 :0.0
3)
4) (
0.900
1.000
37
1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) (@) 90.000 :0.0
3)
4) (
0.900

1.000




( 20/ 20)

38

1.000

:8.0

:0.0

D
2)

(

)

:0.0

:0.0

:0.0

0.070

1.000




1/

1

100.000

4.200

0.050

15.500 kg
1.400 kg
15.500 kg
1.400 kg
18.000 kg
1.600 kg
14.000 kg
1.300 kg
11.200

100.000




1/

2)

K78021 7,163 5
K96006 | SUS304 FB65x 9 kg 1,133 40
K96007 | SUS304 FB70x 9 ] 1,342 57
K96010 | SUS304 L 100x75x7 kg 1,518 36
K96021 | CR P30x 10x 75 1:4.910 kg 28,800 59
K96022 |CR t12x 80 2.010 kg 21,700 60
BN
K96023 | SUS304 M12x45 2N,2PW kg 2,260 49
K96024 SU8354NM24X230 2N, 2PW kg 2,260 50
K96025 SUSBEL\: M12x135 2PW,SW kg 2,230 51
K96026 AP-12 427 52
K96027 SUSS(,\j4 M16 2PW,SW 6 kg 2,230 53
B N
K96028 | SUS304 M12x45 PW,SW 8 kg 2,230 54
K96029 | 20kN 2,920,000 44
K96030 | SUS316 RA20 L=7.990 1,400,000 45
K96031 | SUS304 RA20 65,200 46
K96032 | SUS304N2 16,200 47
K96033 | W700xH2350x600 6,050,000 48
P96001 | LED 820 69,900 9




2/

2)

P96012 15,000 20
P96014 8,210 22
P96019 7,740 27
P96020 | SUS WP 300x400x200 75,200 28
P96025 227,000 6
P96026 85,500 7
P96027 88,000 8
W96001 |B2.00 x H1.55 393,000 1




1/

3)

@

35%

40%

0.00




2/

3)

1.000

10

11




3/

3)

12

13

14




1/

1

1.000

1.000

1.000

Co

1.000




1/

1

1.000
1.000
1.600 m3
20 142.000
D16 L=180 0.040 ton
2.900
21-12-25 W/C55% 1.600 m3
Co 1.000
1.600 m3
1.600 m3




1/

3)

1
m3 1.000 m3
« )
.3 t 6cm 1.000
2
20 1.000
20 1.000
3
D16 L=180 ton 1.000 ton
SD295,D16, ,10t ,10% 1.000 ton




2/

3)

4
1.000
SP
1.000
5
21-12-25 W/C55% m3 1.000 m3
SP
- .—.21-12-25(20) ( 1.000 m3
B) W/C55%
6
m3 1.000 m3
SP
( ) ,8.0km 1.000 m3




3/

3)

m3

1.000 m3

1.000

m3




1/

4)

m3 1.000
:8.0 :0.0
:0.0 8
1 : :0.0
2) :0.0
3)
1.000 m3
1.000
1.000
:8.0 :0.0
,3 t 6cm :0.0 8
1 : :0.0
2) (cm) 3 t 6cm :0.0
0.800
1.300
16 0.160

9.200




4)

ton

1.000 ton

SD295,D16,

.10t

,10%

:8.0

-4

8

0.0

:0.0

:0.0

:0.0

D
2)

SD295
D16

3)
4)

10t

5
6)

)
8)

10%

SD295 D16

1.030

ton

(

1.090

ton

1.000 ton

ton

SP

m3

1.000 m3

SP

,8.0km

:8.0

:0.0

4

:0.0

8

:0.0

:0.0




3/

4)

D
2)

3)DID
4)

8.0km

m3

SP

1.000

SP

:8.0

:0.0

:0.0

:0.0

:0.0

iy
2)

SP

m3

1.000 m3

SP

2—.21-12+

:8.0

4

:0.0

8

25(20)(  B) W/C55%

:0.0

:0.0

:0.0

D
2)

3)
4)

5)
6)




4/

4)

)
8)

10)

21-12-25(20)

B) W/C55%

m3




REEMm—EXR

TH4 REEH EFML BIINE2H AFHIUKS —M TH BV FRER)
AFR Hirg Bify Ei{f wE
0 g Vo) —hak (i) m3 4,900 EHREERE L=8. OKm
BHE(R95vT) #AE—H1 ton 35,500 |:EHkERE L=54. OKm
BREEE
ORMEE
EB7v) X G 20kN 28 2,920,000
TVIHE SUS316 RA20 L=7.990 ¥ 1,400,000
R F SUS304 RA20 r 65,200
REY SUS304N2 # 16,200
Hs 152 4 28 ﬁvp\g%%;g%goip% & 6,050,000
WX E




REEMm—EXR

IS4 REK#H RFMIL BIILAE2H KFHFEKT—M IFEGEVOFERR)
BT Mg By B fiff "%
IMIZIKFT (1F9) =X 227,000
TR R X 85,500
AR R =X 88,000
R E
AELT—(1PT) B2.00m X H1.55m =® 393,000 414.3kg
BAE
O/ iZKF(1F9)
EBIERKEET L CR P30 % 10X 75~1:4.910 kg 28,800
TERKEHT L CR t12 X 80~2.010 ke 21,700
ORI E




REEMm—EXR

IE4 REE# KFmL BMILAF28 KHBUKT—M IEGEOFEERER)
£ FR g Bify Biff e
7NFBN SUS304 M12x45 2N,2PW ke 2,260
72Hh—B-N SUS304 M24x230 2N,2PW ke 2,260
~HIBN SUS304 M12x135 2PW,SW ke 2,230
BERTVH— mER& AP-12 ¥:N 427
Oa7v7
~HIBN SUS304 M12x135 2PW,SW ke 2,230
BERTVH— mER& AP-12 ¥:N 427
OxRY)—v
NEN SUS304 M16 2PW,SW ke 2,230
NABSEN SUS304 M12x45 PW,SW ke 2,230




REEMm—EXR

ITE4 REEH EFdk EHILSF28 KHABRKTS—MIEFEVFERAR)
E2E & BAf =R S
THREE (THEE%ELY)
ATUL A HWE MH-THAH m2 7,163
M E
27 UL R SUS304 FB65 X 9 ke 1,133 1*313,;“1%] ; o
27 UL R SUS304 FB70 X 9 ke 1,342 1%3;“1%] ; 92
RF UL ARE DL SUS304 L 100x75x7 ke 1518 1%3{:3;“1%] ; o
O—RANBLHRH
REARRE LEDXERI=vFREE 82W oS 69,900
EMERE &l /R & Fa 15,000
MEEMEEE L EBRE Bt E & = 8,210




REEM—F

®

TE4 REXHM KFdaL BEIASFE2H KHFBUKT—M ITEFEOFERE)
AFR Hirg Bify Ei{f "%
E_RERENLSERE EaARI% = 7,740
TRy YR SUS-WP 300 x 400 x 200 1@ 75,200
KUTE, BR2EBMHELLTEHELTWAEEDEFEALDHHY)ESEBEELTRLIZEDTY,
EEIEESD 4B 8IKHEE FH IE = 33,000
HEREES FELS) 4B 8IKHEE FH IE = 0




